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Eighth Semester B.E. D
Advanced Ge

Time: 3 hrs.

Note: Answer any FIVE full

7 a. List any six features of O
briefly.
Explain IP based Flat
Write short notes on
(i) Delay Coherence Bandwidth
(ii) Doppler S Coherence Time

USN

) ,,,

b.

18TE81
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Marks: 100

module,

Explain thern
(06 Marks)
(06 Marks)

(08 Marks)

in broad band wireless channels. (08 Marks)
systcm, desired base station is at a

nearby base stations transmtttins.
1km,3ata
Ratio (SIR)

(04 Marks)
(08 Marks)

Discuss the effccts of p
Consider a user in thc
distance of 500 meters

ath loss and
downlink
and

OR

3 a. Explain the
b. With a neat

(06 Marks)
(06 Marks)

Explain following
(i) s and
(ii) pre-coding (08 Marks)

c. ISricfly explain downlink control channels with DCI fonnats. (08 Marks)

OR
a. Explain the structure of the downlink resource grid with relevant diagram. (10 N{arl<s)

b. Explain the Tail-Biting Convolutional and Convolution Turbo codirrg tcchniques in detail.
(10 N{arks)
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7a.

b

8a.
b

9 a. Explain briefly the MAC
b. Describe the Mobility

10 a. Explain the
PDU (Protocol nrt

b. Dcscribe br"ie

( ii) network

in LTE over Sl and X2 interface. (10 Marks)

details of PDCP data PDU and PDCP control
OR

along with the

PDUEormats.

18T881

signals with
(08 Marks)

s. (12 Marks)

(10 Marks)
(10 Marks)

(10 Marks)with their

). (10 Marks)

(i) RAN
lowing:
fbr rnobility

(10 Marks)
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OR
Reference Signals.
Procedures in LTE.
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